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Mﬂhrane curve indicates various combinations of two goodo which “
th: equal level of satisfaction™.
slained with the help of following table and diagram:-

. Pairs of goods | Good X Good Y Level of Satisfaction
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~ In this table there are fou} pairs of x and y goods which give same level of satisfaction
"lhle are shown by points A, B, C, D in the graph, with the help of these points; we draw

me‘ Curve (IC) which shows same level of satisfaction on the graph.
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pains at the same level of satisfaction. This ratio is called “Rate of Substitution™. It 1s explained
th the help of following table:-
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There are four columns in the table. In first column we put different pairs of goods. In
ﬂl:l we have x and in third column we have units of y commodity. Fourth column shows

. marginal rate of substitution (MRS). All the pairs ndicate same level of satisfaction, and
" gonsumer does not prefer to any of the pair, consumer substitutes an ac dditional unit of x with four
" umits of y, then 3 units of y with one additional unit of x, and 2 umits of v are substituted with

 another unit of x, and it 1s called MRS,
“The Marginal Rate of Substitution may be defined as the ratio between small quantities of

hmmdltlcs which are equally valued by an individual™

“Diminishing marginal rate of substitution”™

| Above mentioned table shows that
_'gmal rate of substitution diminishes as a
gonsumer substitutes y commodity 1o x. As he
* substitutes 2* unit of x with 4 units of y and

~ third unit of x with 3 units of y and fourth unit
of x with 2 units of y, MRS diminishes and

.~ %at’s why it is called (DMRS). “Diminishing

-* ~ “arginal Rate of Substitution™.
It s explained with the help of diagram.
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. | " Commodity X ki
: f - AB line is consumer’s price line. If, the price of Y remains at 5/- per unit and llli Pﬂ
: ,wt)' decreases to 8/- Rs. per unit then consumer can get 5 units of X commodity instead
- 4, and his price line becomes AC. | _
i If, the prices of both commodities remain constant but consumer’s income increases fr
. 40 Rs. to 60 Rs. then he can get 12 units of X commodity instead of 8 units and 6 units o
- commodity instead of 4 units and new price line becomes DE that shows any pair at this line \
cost 60 Rs. For Example; at point F buyer will spend 10 Rs. on the purchase of one out ¢
commodity and 50 Rs. on 10 units of Y commodity, and total expenditure will be (50+10

Rs.).
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Changes in price line due to change in price of goods is called “Price Efcht':, as prnice |
shifts upward AB to AC. At the other hand shifting of curve is due to change in income tha
called “Income Effect” as the price line AC shifted upwards as DE.

“Assumptions of The Theory”:-

1. Consumer is Rational:-
Consumer is rational and spends his income carefully to maximize his satisfaction level.

2. Utility is Ordinal:-
Consumer can rank his preferences according to the satisfaction means he can order

preferences.

3. Constant Prices:-
Consumer is well aware of the prices and these remains constant during the purchas

- goods.
4. Axiom of Consistency:-

Consumer is consistent. If he prefers one thing on other, then he will not prefer the 2"
first thing e.g. If A>B then B¥A

5. Axiom of Transitivity:-

If, consumer sees that; A>B and also B>C then definutely A>C.
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Are many consumers in a market and everyone wants to maximize his
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ing consume b‘llvlur. |
1\ 15 assumed that consumers taste habit and income do not change.
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| There are three Indifference curves IC,, IC; and IC; in the above diagram IC] shows
lowest level of satisfaction and IC3 shows the highest level of satisfaction. As ICy is higher
than IC, but lower than IC,; AB is the price line IC, intersect AB budget line at point C and
D *IC| which provides same level of satisfaction to the consumer but consumer will prefer
point 'E" where IC intersects AB budget line. Which is located at ' i~fr - ICy, and gets OX,
units of commodity ‘x’ and O y, units of Y commodity. IC; <hc..v highest level of

satisfaction but it is out of reach of the consumer with present Px_ 'y and y (income) he
cannot purchase any good at ICIII. |

Conditions for consumer’s equilibrium.
(1 Necessary Condition:

MRS should be equal to the ratio of relative prices.
MU
MRs,, = g <

MUy 5 Py
(2) Sufficient Condition:
IC should be convex to the origin at equilibrium point, Consumer’s ilibri
E at above diagram satisfies both these conditions. equilibrium Pﬁ




